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This guide walks you through the steps to create Tableau visualizations that mimic some 
particularly good news graphics. The goal is to show what can be done in Tableau, and to 
show/introduce some of its features in a concrete use context. 
 
Small Multiples Area Chart of Drought Index with Decade Breaks 
Drought and Deluge in the Lower 48​  is a great example of a small multiples plot: 
http://nyti.ms/Obq0SH 
 

 
 
(1) Connect the pdsi.tsv file to Tableau. TSV (tab separated values) file is similar to a CSV 
(comma separated values) file except that the values are separated by tabs instead of commas.  
 
(2) This is what the dataset looks like Excel: 
  

 
 
The key field is the date, with the first four digits being the year and the last two the month. We’ll 
deal with that in a moment. The columns are for one of the drought severeness levels each, 
from 0 to 6.  

● In the Data Source tab, select all of the columns except “key”. In the last column (column 
“6”), click on the triangle and select “Pivot”. This will result in two columns, one for 
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drought severeness level and one for amount. Rename the first column to ​Level​  and the 
second one to ​Amount​ . Keep the column “Key” the same. 

● Make sure that each of the column data types are correct. “Key” should be a string, 
“Level” should be a string and “Amount” should be an number (decimal) 

● Start a new worksheet. Once on the sheet, right-click in the data pane and select ​Create 
Calculated Field… 

● Name it Date and enter this expression: DATEPARSE("yyyyMM", [Key]) 
○ The dateparse() function uses a pattern to match a date it can’t otherwise 

understand. The first part, ​yyyy​ , is a four-digit year; ​MM​  stands for a numerical 
month (as opposed to the month name). 

○ Click OK to close the formula editor 
● Go back to the Data Source tab and check the format of Date to ensure that it was 

parsed correctly.  
 
(3) To build the initial view, follow these steps: 

● Drag ​Date​  to the ​Columns​  shelf 
● Drag ​Amount​  to ​Rows 
● Drag ​Level​  to ​Color 
● In the dropdown at the top of the ​Marks​  card, select ​Bar 
● Click on the little + button in the ​Date​  field in the ​Columns​  shelf so that it displays as 

Quarter 
● In the ​Amount​  pill on the Rows shelf, click the little arrow and from ​Quick Table 

Calculation,​  select ​Percent of Total 
● Then click that again and from ​Compute Using​ , select ​Cell 
● This makes sure all the bar stacks are the same height. Since the numbers are cut off 

after three decimals, they might not always sum to 1 exactly. 
 
(4) Now we have the initial view, but it’s upside down, with the more severe drought levels 
(higher numbers) at the bottom.  

● We can fix this by dragging the items in the colour legend so that the highest number is 
on top and the lowest on the bottom.  

● Also, click on the Size field and select the “Manual” radio button. Adjust the width of the 
bars until there is no more visible white space between bars within a year. This creates 
the nice, even appearance the NY Times piece has. 

 
(5) All the years are now laid out next to each other. But we want a more tabular layout (called a 
trellis​ ), with ten years in each row. To do this, we need to help Tableau a little. We’ll calculate 
two numbers for each year: the decade it is in and how far it is away from the start of the 
decade. 

● Right-click in the data pane and create a new calculated field 
● Name it ​Decade​  and enter the following expression: 

FLOOR(DATEPART('year',[Date])/10)*10 



○ The DATEPART() function extracts a particular element from a date, in this case 
the year 

○ We divide that number by 10 and round the result of that down using the 
FLOOR() function 

○ For 1956, the result of that is FLOOR(1956/10)=FLOOR(195.6)=195 
○ To make the decade number nicer, we then multiply by ten again, which for the 

1956 example gives us 195*10=1950 
● That is the first part of our grid (the rows), but we also need to order the years within 

each decade. Create a calculated field called ​Decade Offset 
● Enter the expression DATEPART('year', [Date])-[Decade] 

○ This takes the year and subtracts the decade. For the 1956 example, that would 
be 1956-1950=6 

● Before we can use the fields, we will need to tell Tableau that we don’t want to treat 
these as continuous numbers. To do that, drag ​Decade​  and ​Decade Offset​  from the 
Measures​  area in the data pane to the ​Dimensions​ . 

● Now drop the ​Decade​  on the ​Rows​  shelf 
● Drop the ​Decade Offset​  on the ​Columns​  shelf to replace the year (either drop on the 

year or remove the year once the offset is there) 
● Again, adjust the bar width to remove white space by clicking on the size property in the 

Marks card. 
● This shows the 1890s at the top. To change that, mouse over the Decade axis label and 

click the little sort button that appears until 2010 is at the top. 
● Change the coloring by clicking the triangle on the top right corner of the Level legend. 

Select Edit Colors. 
● That is the basic layout. We can now remove the row headers by right-clicking on the 

little axis label saying ​% of Total Amount​  and deselecting ​Show Header​ . 
 
A variation of this, based on different data, would be maps over time like in this example 
(available online at​ ​http://nyti.ms/LwehKV)​: 
 
  

http://nyti.ms/LwehKV)
http://nyti.ms/LwehKV)


 


